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Profession Based Puzzle  

 
Directions: 1-5) Answer the questions based on the 

information given below. 

Eight persons D, E, F, G, H, I, J and K work in a school. 

Each of them has different designation (Director, 

Principal, Vice Principal(VP), Senior Teacher (ST), 

Teacher, Assistant Teacher (AT), Librarian and Assistant 

Librarian (AL). They sit in a straight row from west to east 

in the same order and their ranks are also in the decreasing 

order i.e. Director sit at the extreme left end while AL in 

the extreme right end such that Director is senior most 

person and AL is the junior most person. No two persons 

with names starting with consecutive alphabets are 

immediate neighbors of each other. Four of them has 

different number of pens (2, 3, 4 and 5). All of them are 

facing towards north direction. 

Person, who has 3 pens, sits 3rd to the right of K. The 

librarian has more pens than the AT. F sits 2nd to the right 

of J, who is not the Teacher. E sits 2nd to the left of J. K 

is junior to at least two persons. H doesn’t have 5 pens. 

AT doesn’t have 2 pens. I sits to the left of D, who sits to 

the left of G. G is not the Librarian. Person, who has 2 

pens, sits immediate right of D. G has some pens. 

1) Who has 2 pens? 

a. Assistant Teacher 

b. Senior Teacher 

c. Teacher 

d. Vice Principal 

e. None of the above 

2) Who is the librarian? 

a. G 

b. J 

c. H 

d. E 

e. None of the above 

3) Who sits 3rd to the right of the Senior Teacher? 

a. G 

b. F 

c. H 

d. J 

e. None of the above 

4) Who sits immediate left of the one, who has 5 pens? 

a. Principal 

b. Assistant Teacher 

c. Vice Principal 

d. Teacher 

e. None of the above 

5) Which among the following statements is/are true? 

a. The Principal has 2 pens 

b. J sits 2nd to the left of the librarian 

c. More than three persons sit to the left of E 
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d. F is not the Assistant Librarian 

e. None of the given statements is true 

Directions: 6-10) Answer the questions based on the 

information given below. 

Seven bank employees A, B, C, D, E, F and G belong to 

seven different ranks/roles in the hierarchy given below 

not necessarily in the same order. The rankings of their 

designations in descending order are mentioned below 

such that Chairman is at the highest rank while Trainee is 

at the lowest. 

Chairman > Managing Director (MD)> HOD > Senior 

Manager (SM) > Assistant Manager (AM) >Clerk > 

Trainee. 

They wear trousers of different colors as per the dress 

code decided by bank on its 50th foundation day. 

The one who is a Clerk wears Orange trouser. C, whose 

designation is higher than that of D, wears Black trouser. 

The one who wears Pink trouser is three ranks higher than 

the one who wears Orange trouser. G does not belong to 

the top three ranks. F is Chairman and wears Beige color 

trouser. The trouser worn by G is of Grey color. E is 2 

ranks lower than F. The one having 3rd lowest designation 

wears Brown trouser. Neither A nor B wears Brown 

trouser. SM wears Blue trouser. 

6) What is the rank of A from the top as per given 

designation order? 

a. Fourth 

b. Second 

c. Third 

d. Sixth 

e. Either (a) or (d) 

7) The person whose designation is HOD wears which 

color trouser? 

a. Blue 

b. Pink 

c. Black 

d. Brown 

e. Either Brown or Black 

8) If all the persons are arranged in alphabetical order 

from top to bottom with respect to designation placed 

in descending order then E’s designation is_____? 

a. Managing Director 

b. HOD 

c. Senior Manager 

d. Assistant Manager 

e. Clerk 

9) How many people are there between the one who 

like Beige color and the one who likes Orange color? 

a. Four 

b. Five 

c. Three 

d. One 

e. Two 
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10) If F is related to ‘Pink color’, E is related to ‘Brown 

color’ and C is related to ‘Blue color’ then D is related 

to which color? 

a. Pink 

b. Black 

c. Grey 

d. Blue 

e. Beige 

Directions: 11-15) Answer the questions based on the 

information given below. 

Seven persons P, Q, R, S, T, U and V work in seven banks 

viz. HDFC, ICICI, SBI, BOB, BOM, IOB and DCB but 

not in the same order. They work at different designations 

i.e. AM (Assistant Manager), MG (Manager), DGM 

(Deputy General Manager), GM (General Manager), 

CGM (Chief General Manager), ED (Executive Director) 

and CEO (Chief Executive Officer). 

Note: The positions given are increasing order of seniority 

such that AM is the junior most person and the CEO is the 

most senior person.  

P is senior to only three persons. Person who works in 

HDFC bank is senior to GM. R is junior to the one who 

works in SBI and senior to DGM. DGM does not work in 

IOB. U does not work in SBI. The one who works in SBI 

is not the most senior. Q is junior to P but not the junior 

most person and works in IOB. U is senior to one who 

works in IOB and junior to the one who works in HDFC 

bank. T is junior to GM. The one who works in BOB is 

junior to V and senior to DGM, who works in DCB. S 

works in ICICI bank. 

11) Who among the following is designated as CGM? 

a. U 

b. The one who works in SBI 

c. Q 

d. The one who works in HDFC 

e. None of the above 

12) How many persons are junior to U? 

a. One 

b. Three 

c. None 

d. Five 

e. Two 

13) Who among the following works in BOM? 

a. The one who is designated as CEO 

b. The one who is designated as GM 

c. The one who is designated as AM 

d. The one who is designated as MG 

e. Can’t be determined 

14) How many are there in hierarchy in between V and 

the one who works in BOM? 

a. Three 

b. Four 

c. Five 

d. None 
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e. One 

15) Which of the following statement is true regarding 

R? 

a. R works in HDFC 

b. R is designated as ED 

c. R works in BOB 

d. R is designated as CEO 

e. None is true 

Directions: 16-20) Answer the questions based on the 

information given below. 

Seven persons P, Q, R, S, T, U and V work in locomotive 

department of railways. Each of them has designation in 

the order of precedence i.e. MD, SE, Pilot, JE, TCE, TC 

and Associate such that MD is the senior most person and 

Associate is the junior most person. Each of them works 

on different days of a week from Monday to Sunday. 

V is not an associate. S is neither TCE nor Associate. U is 

a pilot. R works on Monday. T is a JE and works on 

Wednesday. Three persons have work day before P. 

Person, who works on Saturday is junior of at least four 

persons. MD works just before the work day of SE. U 

works on neither Sunday nor Tuesday. S’s work day is just 

before V. 

16) Who among the following is TCE? 

a. T 

b. U 

c. S 

d. R 

e. V 

17) How many persons work after U’s work day? 

a. Three 

b. Four 

c. Two 

d. One 

e. None of the above 

18) How many persons are senior to R? 

a. Three 

b. Four 

c. Two 

d. One 

e. No one 

19) Which of the following pair is correct? 

a. Thursday, Pilot 

b. Tuesday, SE 

c. U, TC 

d. V, MD 

e. Friday, TC 

20) How many persons are junior of Q? 

a. Five 

b. Two 

c. Four 

d. Three 

e. One 
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Directions: 21-25) Answer the questions based on the 

information given below: 

There are seven employees A, B, C, D, E, F and G in a 

bank on different designations i.e. Chairman, President, 

GM(General Manager), AM(Area Manager), BM(Branch 

Manager), PO(Probationary Officer) and Clerk but not in 

the same order. These designations are in the decreasing 

order as Chairman is the senior-most designation and 

Clerk is the junior-most designation. Each of them likes 

different colors, Red, Yellow, Black, Pink, Orange, Blue 

and Grey. 

Only two persons are senior than the person, who likes 

Blue. E is a Clerk and likes Red. Two persons are junior 

to the person, who likes Grey. D is president. F is senior 

than A, who is senior than G, who is not a PO. A doesn’t 

like Blue. B likes Black. Neither C nor A likes Yellow. F 

is not Chairman. B is not PO. 

21) ___ is the GM. 

a. Cannot be determined 

b. B 

c. F 

d. A 

e. None of the above 

22) ____ likes Pink. 

a. D 

b. C 

c. A 

d. Cannot be determined 

e. None of the above 

23) How many persons are junior than B? 

a. 2 

b. 3 

c. 1 

d. 6 

e. None of the above 

24) ___ persons are senior than the person, who likes 

Orange. 

a. Four 

b. Two 

c. One 

d. Cannot be determined 

e. None of the above 

25) Which among the following statements is/are true? 

a. D likes Black 

b. F likes Pink 

c. G is a BM and likes Grey 

d. B is a Chairman and likes Pink 

e. None of the above statements is true. 

Directions: 26-30) Answer the question based on the 

information given below. 

Eight persons A, B, C, D, E, F, G and H belong to three 

different states i.e. Gujrat, Kerala, Orissa. At least two but 

not more than three persons belong to each state. All of 

them are belongs to different profession namely Artist, 
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Teacher, Banker, Doctor, Architect, Dancer, Singer and 

Musician but not in the same order. 

A is an Architect but does not belong to Kerala. C belongs 

to Orissa only with the person who is a Banker. H is 

neither a Singer nor Banker. Neither D nor B belongs to 

Orissa. The one who is a Singer belongs to Gujrat. Neither 

F nor G is a Banker. The one who is an Artist belongs to 

Orissa. The one who is a Doctor does not belong to Gujrat. 

D is neither a Dancer nor a Singer. B is not a Doctor and 

Musician. H does not belong to Gujrat. Neither F nor B 

belongs to Gujrat. The one who is a Teacher and B do not 

belong to the same state. B is not a teacher. 

26) Who among the following belongs to Gujrat? 

a. The one who is an Artist 

b. The one who is Banker 

c. The one who is a Doctor 

d. The one who is Musician 

e. The one who is Teacher 

27) Who among the following belongs to Kerala? 

a. H 

b. The one who is a Dancer 

c. E 

d. G 

e. Both (a) and (b) 

28) Which of the following statements is true? 

a. G and H belong to same state 

b. B belongs to Orissa 

c. D is a Teacher 

d. The one who belongs to Kerala is a Teacher 

e. All are correct 

29) Which of the following is true about C? 

a. C is an Artist. 

b. C belongs to Banker 

c. C and G belong to same state 

d. C and B belong to Kerala 

e. None is correct 

30) Who among the following is Banker? 

a. The one who belongs to Gujrat 

b. F 

c. The one who belongs to Kerala 

d. E 

e. None of these 

Directions: 31-35) Answer the questions based on the 

information given below. 

Seven employees P, Q, R, S, T, U and V of a company are 

working at seven different designation i.e. GM, CMD, 

MD, CEO, COO, SE and JE but not in the same order. The 

precedence of the designations is in the same order as 

mentioned above such that GM is considered as senior – 

most and JE is considered as the junior – most. All the 

persons belong to the seven different states i.e. MP, UP, 

HP, UK, MH, Assam and Kerala but again not in the same 

order. 

https://pdf.exampundit.in/buy-a-pdf
https://guidely.in/bank-insurance-exams-mock-test-series-online
https://play.google.com/store/apps/details?id=in.app.exampundit
https://pdf.exampundit.in/buy-a-pdf
https://pdf.exampundit.in/pdf-course


                                      

Profession Based Puzzle Questions for SBI PO Prelims 2020-21 

 

Page 8 of 22 

 

Get to Download Our Special Paid PDFs | Get High Standard Mock Test Series for all Bank Exams 

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in 

R is immediate junior to the one who belongs to MP and 

is not the SE. Only two persons are senior than U, who 

does not belong to HP. T belongs to Kerala and is junior 

than V but not immediate junior. V does not belong to UP. 

S is immediate senior to the one who belongs to HP. S is 

junior than the one, who belongs to UP. Neither COO nor 

JE belongs to HP. The one who belongs to MH is senior 

than S but junior than P, who is not the GM. The COO 

does not belong to UK. P does not belong to Assam. 

31) Who belongs to Assam? 

a. The one who works as SE 

b. The one who works as COO 

c. The one who works as CEO 

d. The one who works as JE 

e. None of the above 

32) Who works as CMD? 

a. V 

b. R 

c. U 

d. P 

e. None of the above 

33) How many persons have positions between V and 

S? 

a. Three 

b. Two 

c. Four 

d. One 

e. None 

34)  Who is immediate senior to T? 

a. P 

b. S 

c. Q 

d. R 

e. None of the above 

35) Which of the following statement is true? 

a. V is working as CMD 

b. T works as SE 

c. R belongs to HP 

d. P belongs to UK 

e. Q belongs to HP 

Directions: 36-40) Answer the questions based on the 

information given below: 

There are six employees S, T, U, V, W and X in a same 

company. Designation of these employees are Trainer, 

Project Manager(PM), Software Engineer(SE), Team 

Leader(TL), Director(DR) and Trainee. Each of them has 

different number of pens (2, 3, 4, 6, 7 and 8). 

The SE, Trainer and Trainee have prime number of 

pens.Trainee has one pen less than V. U has four pens 

more than the trainer.W has fewer pens than X but not the 

lowest. V doesn’t have 8 pens. DR has more pens than the 

PM but not the highest. S is the SE. 

36) ___ is the Team Leader. 

a. U 
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b. V 

c. X 

d. W 

e. None of the above 

37) Sum of pens with the DR and Trainee is ___. 

a. 13 

b. 6 

c. 11 

d. 9 

e. None of the above 

38) T has __ pens less than the ___. 

a. 2, DR 

b. 3, PM 

c. 1, SE 

d. 4, DR 

e. None of the above 

39) ___ employees have fewer pens than X. 

a. Four 

b. Two 

c. One 

d. Five 

e. None of the above 

40) Which among the following statements is/are true? 

a. The TL has odd number of pens. 

b. U is not the DR 

c. V has fewer pens than X 

d. S has the lowest number of pens. 

e. None of the above statements is true. 

Directions: 41-45) Answer the questions based on the 

information given below. 

Six persons P, Q, R, S, T and U work in SBI in six 

different posts i.e. President, GM(General Manager), 

AM(Area Manager), BM(Branch Manager), 

PO(Probationary Officer) and Clerk but not in the same 

order. These designations are in the decreasing order as 

President is the senior – most post and Clerk is the junior 

– most post. Each of them took leave on one of the days 

among Monday to Saturday but not in the same order. 

The President took leave on Tuesday. At least two persons 

ranked between the one who took leave on Wednesday 

and the one who took leave on Monday but the one who 

took leave on Wednesday ranked higher than the one who 

took on Monday. There are two people ranked between Q 

and the one who took leave on Thursday where Q’s rank 

is higher than the one who took leave on Thursday. U, who 

took leave on Friday, ranked higher than the one who is a 

BM in SBI. P is not ranked immediately below T. T is 

ranked higher than P but lower than the AM. R, who is 

ranked lower than S, took leave on Saturday. S is not the 

AM. 

41) Who among the following is the PO? 

a. P 

b. R 

c. T 
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d. S 

e. None of the above 

42) Who took leave on Monday? 

a. The one who is the AM 

b. The one who is the PO 

c. The one who is the BM 

d. Can’t be determined 

e. The one who is Clerk 

43) Who among the following ranked just higher than 

the rank of T? 

a. The one who took leave on Friday 

b. The one who took leave on Saturday 

c. The one who took leave on Monday 

d. The one who took leave on Tuesday 

e. None of the above 

44) How many persons were ranked between P and the 

one who took leave on Friday? 

a. One 

b. None 

c. Four 

d. Three 

e. Two 

45) Which of the following combination is correct? 

a. P – PO 

b. Q – Wednesday 

c. T –GM 

d. S – Wednesday 

e. R – BM 

Directions: 46-50) Answer the questions based on the 

information given below. 

Seven persons A, B, C, D, E, F and G join a same company 

with different designation on 1st of different months 

(February, April, June, July, September, November, 

December) in same year. The joining is done in the order 

of the given designation (Director, SPM, PM, APM, Team 

Leader, Trainer and Trainee) i.e. Director joins first and 

Trainee joins last. 

A joins in a month, which has 31 days. Two persons join 

between A and E, who is not a Trainee. D joins two 

months after B.D is not a Trainer. F joins after G, who 

doesn’t join before C.G is not Team leader. C doesn’t join 

in February. 

46) ____ is the Trainer. 

a. F 

b. A 

c. G 

d. B 

e. None of the above 

47) C joins in which month? 

a. September 

b. June 

c. April 

d. July 

e. None of the above 
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48) ___ joins three months after D. 

a. F 

b. G 

c. C 

d. A 

e. None of the above 

49) _____ joins immediately before A. 

a. D 

b. C 

c. E 

d. G 

e. None of the above 

50) Find the odd one out. 

a. B 

b. A 

c. D 

d. C 

e. G 

Profession Based Puzzle - Answer and Explanation 

Answers 

1. d 

2. c 

3. c 

4. e 

5. e 

Solutions 1-5 

1. Person, who has 3 pens, sits 3rd to the right of K. K is 

junior to at least two persons.  

2. The librarian has more pens than the AT. 

So, K is either VP or ST or Teacher. AT has either 2 or 3 

or 4 pens. 

Case I: K is the VP: 

    K     

(

3

) (4/5)   

Dire

ctor 

Prin

cipal 

V

P 

S

T 

Tea

cher 

A

T 

Libr

arian 

A

L 

Case II: K is the ST: 

      K   

(

2

) (3)   

Dire

ctor 

Prin

cipal 

V

P 

S

T 

Tea

cher 

A

T 

Libr

arian 

A

L 

Case III: K is the Teacher: 

        K 

(

4

) (5) 

(

3

) 

Dire

ctor 

Prin

cipal 

V

P 

S

T 

Tea

cher 

A

T 

Libr

arian 

A

L 

3. AT doesn’t have 2 pens, so case II is rejected. 
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4. F sits 2nd to the right of J, who is not the Teacher. 

5. E sits 2nd to the left of J, this is not possible in case III, 

so case III is rejected. 

So, F is the AL. J is the AT and has 3 pens. E is the ST. 

    K E   

J(

3) (4/5) F 

Dire

ctor 

Prin

cipal 

V

P 

S

T 

Tea

cher 

A

T 

Libr

arian 

A

L 

6. I sits to the left of D, who sits to the left of G.  

7. G is not the Librarian. H doesn’t have 5 pens. 

So, I is the Director, D is the principal and G is the teacher. 

H is the Librarian and has 4 pens. 

I D K E G 

J(

3) H(4) F 

Dire

ctor 

Prin

cipal 

V

P 

S

T 

Tea

cher 

A

T 

Libr

arian 

A

L 

8. Person, who has 2 pens, sits immediate right of D. G 

has some pens. 

So, K has 2 pens. G has 5 pens. 

The final seating arrangement is given below: 

I D 

K

(2

) E 

G(5

) 

J(

3

) H(4) F 

Dir

ecto

r 

Prin

cipa

l 

V

P 

S

T 

Tea

che

r 

A

T 

Libr

aria

n 

A

L 

Answers 

6. e 

7. b 

8. d 

9. a 

10. c 

Solutions 6-10 

1. The one who is a Clerk wears Orange trouser.  

2. The one who wears Pink trouser is three ranks higher 

than the one who wears Orange trouser.  

3. F is Chairman and wears Beige color trouser. SM wears 

Blue trouser. 

Designations Persons Colors 

Chairman F Beige 

MD     

HOD   Pink 

SM   Blue 

AM     

Clerk   Orange 

Trainee     
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4. C, whose designation is higher than that of D and he 

wears Black trouser. E is 2 ranks lower than F.  

5. The one having 3rd lowest designation wears Brown 

trouser. Neither A nor B wears Brown trouser.  

6. G does not belong to the top three ranks. The trouser 

worn by G is of Grey color. 

So, E must be the HOD of the bank. Also, the one who is 

AM wears Brown color trouser. Now, G must be the 

trainee as C wears Black trouser and C’s rank is higher 

than that of D so, D must be the AM. Either A or B works 

as SM or Clerk. 

The final arrangement is as follows: 

Designations Persons Colors 

Chairman F Beige 

MD C Black 

HOD E Pink 

SM B/A Blue 

AM D Brown 

Clerk A/B Orange 

Trainee G Grey 

Answers 

11. d 

12. e 

13. c 

14. b 

15. a 

Solutions 11-15 

1. P is senior to three persons which means P must be the 

GM. 

2. Q is junior to P but not the junior most person and works 

in IOB. DGM does not work in IOB.  

3. R is junior to the one who works in SBI and senior to 

DGM. The one who works in SBI is not the most senior. 

Now, Q must be MG as Q neither works as AM nor as 

DGM. Similarly, the one who works as ED works in SBI 

as R is junior to the one who works in SBI and senior to 

the one who is designated as DGM. 

Positions Persons Banks 

CEO     

ED   SBI 

CGM R   

GM P   

DGM     

MG Q IOB 

AM     

4. U is senior to one who works in IOB and junior to the 

one who works in HDFC bank. T is junior to GM.  
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5. S works in ICICI bank. The one who works in BOB is 

junior to V and senior to DGM, who works in DCB. 

Now, U must be working as DGM as U is junior to the one 

who works in HDFC. T is junior to GM which means we 

have only place for T i.e. T must be working as AM. S 

must be senior most person. Also, V must be working as 

ED and R works in HDFC. 

The final arrangement is as follows: 

Positions Persons Banks 

CEO S ICICI 

ED V SBI 

CGM R HDFC 

GM P BOB 

DGM U DCB 

MG Q IOB 

AM T BOM 

Answers 

16. e 

17. c 

18. e 

19. b 

20. a 

Solutions 16-20 

1. Three persons have work day before P. Person, who 

works on Saturday is junior of at least four persons.  

2. T is a JE and works on Wednesday. R works on 

Monday. 

So, person, who works on Saturday would be anyone 

among TCE, TC and Associate. 

  Case 1 Case 2 Case 3 

Day

s 

Pe

rs

on 

Desi

gnati

on 

Pe

rs

on 

Desi

gnati

on 

Pe

rs

on 

Desi

gnati

on 

Mon

day R   R   R   

Tues

day             

Wed

nesd

ay T JE T JE T JE 

Thur

sday P   P   P   

Frid

ay             

Satu

rday   TCE   TC   

Asso

ciate 
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Sun

day             

3. U is a pilot. U works on neither Sunday nor Tuesday. 

S’s work day is just before V.  

4. S is neither TCE nor Associate. MD works just before 

the work day of SE. V is not an associate. 

So, U must work on Friday. Also, case 1 and case 3 must 

be rejected. And, R and Q must be MD and SE 

respectively. And, P and V must be associate and TCE 

respectively. 

Days Person Designation 

Monday R MD 

Tuesday Q SE 

Wednesday T JE 

Thursday P Associate 

Friday U Pilot 

Saturday S TC 

Sunday V TCE 

Answers 

21. c 

22. d 

23. d 

24. d 

25. c 

Solutions 21-25 

1. Only two persons are senior than the person, who likes 

Blue. E is a Clerk and likes Red.  

2. Two persons are junior to the person, who likes Grey. 

D is president. 

Person, who likes Blue is a GM. Person, who likes Grey 

is BM. 

Designations Persons Colors 

Chairman     

President D   

GM   Blue 

AM     

BM   Grey 

PO     

Clerk E Red 

3. F is senior than A, who is senior than G, who is not a 

PO. A doesn’t like Blue. B likes Black.  

4. Neither C nor A likes Yellow. F is not Chairman. B is 

not PO. 

So, F is GM. D likes Yellow. 

The final arrangement is as follows: 

Designations Persons Colors 

Chairman B Black 
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President D Yellow 

GM F Blue 

AM A Pink/Orange 

BM G Grey 

PO C Orange/Pink 

Clerk E Red 

Answers 

26. e 

27. e 

28. c 

29. a 

30. d 

Solutions 26-30 

1. A is an Architect. C belong to Orissa only with the 

person who is a Banker. 

2. H is neither a Singer nor Banker. Neither D nor B 

belong to Orissa.Neither F nor G is a Banker 

So, only person we have, who belongs to Orissa and a 

Banker is E. The one who is an Artist belongs to Orissa 

which means C is an Artist. 

Person Profession State 

A Architect   

B     

C Artist Orissa 

D     

E Banker Orissa 

F     

G     

H     

3. The one who is a Doctor, is not belong to Gujrat so, he 

belongs to Kerala. The one who belongs to Gujrat is a 

Singer. 

4. D is neither a Dancer nor a Singer which means G is a 

Singer. 

5. Neither F nor B belongs to Gujrat which means both 

belongs to Kerala. 

6. The one who is a Teacher and B do not belong to the 

same state. H does not belong to Gujrat. 

Person Profession State 

A Architect Gujrat 

B   Kerala 

C Artist Orissa 

D Teacher Gujrat 

E Banker Orissa 

F   Kerala 
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G Singer Gujrat 

H   Kerala 

7. B is not musician and doctor. The one who is doctor 

belongs to Kerala. 

The final arrangement is as follows: 

Person Profession State 

A Architect Gujrat 

B Dancer Kerala 

C Artist Orissa 

D Teacher Gujrat 

E Banker Orissa 

F 

Musician/ 

Doctor Kerala 

G Singer Gujrat 

H 

Doctor/ 

Musician Kerala 

Answers 

31. b 

32. d 

33. a 

34. c 

35. e 

Solutions 31-35 

1. Only two persons are senior than U which means U is 

MD. 

2. S is just senior than the one who belongs to HP. Neither 

COO nor JE belongs to HP.  

3. U does not belong to HP. S is junior than the one, who 

belongs to UP. The one who belongs to MH is senior than 

S but junior than P, who is not the GM. 

So, from the above clues it is clear that the one who works 

as SE, belongs to HP which means S works as COO. Also, 

either U or the one who works as CEO belongs to MH. So, 

we have two cases. 

Case I: When U belongs to MH: 

Designations Persons States 

GM     

CMD P   

MD U MH 

CEO     

COO S   

SE   HP 

JE     

Case II: When the one who works as CEO belongs to MH: 

Designations Persons States 

GM     
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CMD P   

MD U   

CEO   MH 

COO S   

SE   HP 

JE     

4. R is immediate junior to the one who belongs to MP 

and is not the SE. T belongs to Kerala and is junior than 

V but not immediate junior.  

5. V does not belong to UP. P does not belong to Assam. 

So, case I is invalid as we can’t place R in case I and in 

case II R must be working as CEO.  

6. T belongs to Kerala and V is senior than T but not 

immediate senior. So, V must be working as GM.  

7. S is junior to the one who belongs to UP which means 

P belongs to UP as V does not belong to UP so, V belongs 

to UK and S belongs to Assam. 

The final arrangement is as follows: 

Designations Persons States 

GM V UK 

CMD P UP 

MD U MP 

CEO R MH 

COO S Assam 

SE Q HP 

JE T Kerala 

Answers 

36. c 

37. d 

38. d 

39. d 

40. c 

Solutions 36-40 

1. Trainee has one pen less than V.U has four pens more 

than the trainer. V doesn’t have 8 pens. 

So, Trainee has either 2 or 3 pens. U has either 7 or 6 pens. 

No. of pens Case I Case II 

2   Trainee   Trainer 

3 V Trainer   Trainee 

4     V   

6     U   

7 U       

8         

2. S is the SE, this is not possible in case I, so case I is 

rejected. 

3. W has fewer pens than X but not the lowest. 
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So, S has 7 pens. W has 3 pens, X has 8 pens. T has 2 pens 

and is the trainer. 

No. of pens Employees Designation 

2 T Trainer 

3 W Trainee 

4 V   

6 U   

7 S SE 

8 X   

4. DR has more pens than the PM but not the highest. 

So, U is the DR, V is the PM and thus, X is the TL. 

The final table is given below: 

No. of pens Employees Designation 

2 T Trainer 

3 W Trainee 

4 V PM 

6 U DR 

7 S SE 

8 X TL 

Answers 

41. b 

42. e 

43. a 

44. e 

45. d 

Solutions 41-45 

1. The President took leave on Tuesday.  

2. T is ranked higher than P but lower than the AM which 

means T must be working as BM and P must be working 

as Clerk. 

Designations Persons Days 

President   Tuesday 

GM     

AM     

BM T   

PO     

Clerk P   

3. U, who took leave on Friday, ranked higher than the one 

who is a BM in SBI.  

4. At least two persons ranked between the one who took 

leave on Wednesday and the one who took leave on 

Monday but the one who took leave on Wednesday ranked 

higher than the one who took on Monday. 

Now, U works as either GM or AM. So, we have two 

possibilities for U. 

Case I: When U works as GM: 
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Designations Persons Days 

President   Tuesday 

GM U Friday 

AM   Wednesday 

BM T   

PO     

Clerk P Monday 

Case II: When U works as AM: 

Designations Persons Days 

President   Tuesday 

GM   Wednesday 

AM U Friday 

BM T   

PO   Monday 

Clerk P 
 

 

5. There are two people ranked between Q and the one 

who took leave on Thursday where Q’s rank is higher than 

the one who took leave on Thursday. 

6. S is not the AM. R who is ranked lower than S, took 

leave on Saturday. 

Now, in case I, Q must be the President which means R 

must be working as PO and S works as AM which invalids 

the case I as S is not the AM. 

Now, in case II Q either works as President or as GM but 

when Q works as GM we cannot fix R who took leave on 

Saturday, So, Q must be working as President and S works 

as GM. 

The final arrangement is as follows: 

Designations Persons Days 

President Q Tuesday 

GM S Wednesday 

AM U Friday 

BM T Thursday 

PO R Saturday 

Clerk P Monday 

Answers 

46. c 

47. a 

48. c 

49. a 

50. b 

Solutions 46-50 

1. A joins in a month, which has 31 days.Two persons join 

between A and E, who is not a Trainee. 

2. D joins two months after B.D is not a Trainer. 
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So, A joins in July or December. 

Month Designation 

Case 

I 

Case 

II 

Case 

III 

February Director E B   

April SPM B D B 

June PM D   D 

July APM A E E 

September 

Team 

Leader       

November Trainer       

December Trainee   A A 

3. F joins after G, who doesn’t join before C. 

4. G is not Team leader, so case II is rejected. 

5. C doesn’t join in February, so case III is rejected. 

So, F joins in December, G joins in November and C joins 

in September. 

The final table is given below: 

Month Designation Person 

February Director E 

April SPM B 

June PM D 

July APM A 

September Team Leader C 

November Trainer G 

December Trainee F 
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